A& fE R

&0 &% A R

KEL : SH6EE

BHENR7TIMR—IHE [LERED

BERAR—VEREESEFFBRNRATIME—ILEFEARSEBHEIRTESR

3 g 2024%F 78 25H(K)
= 15 =L -FY—LT7Y—F
BF 1@
14 10 14 16
19 19 21 35
HE 2 21 14 56 RERET figT 56 16 19 86 =%
18 13 5 16
36 2 14 0
30 17 7 11
w2 | 30 7 | ¥ am Memm | 12 20 | % mH
46 12 15 8
12 21
26 4
x5 4| 11| %% mmsn
19 17
ZF 1[EE
22 4
16 2
KEF 66 16 9 27 IS
12 12
ZF 2[EE
25 4 25 8
23 17 25 10
ThmEsn o0 | 21 g | 3% xmu mk P | 2 13 | P gwman
16 9 16 12
13 14 15 17
22 4 20 19
£ 0| 3 4 | P = e 0 | 13 13 | % samT
19 13 8 17
5 43 7 22
1 53 0 27
U 20 10 35 169 —BXF fi5T 17 8 22 94 3=
4 38 2 23
0 36 14 48
2 51 10 42
H®E 10 2 49 180 Z3i &iF 34 8 34 153 EHEE
6 44 2 29




